

Ocean County Board of Commissioners

OFFICE OF THE OCEAN COUNTY COMMISSIONERS

Director John P. Kelly
Deputy Director Virginia E. Haines
Commissioner Barbara Jo Crea
Commissioner Gary Quinn
Commissioner Joseph H. Vicari

101 Hooper Avenue Toms River, New Jersey 08754-2191

Tel: (732)929-2005 Fax: (732)505-1918

Board Meeting Agenda

Date: July 20, 2022 - 4:00 PM

Location: Administration Building

Room 119

101 Hooper Avenue Toms River, NJ 08754

Agenda: Awarding a Contract for the furnishing and delivery of MOTOR VEHICLES: PICKUP TRUCKS to Chas S Winner, Inc., dba Winner Ford, the sole qualified bidder. (B2022-91)

Official Resolution#				2022000991						
Meeting Date				07/20/2022						
Introduced Date			C	7/2	20/2	022	2			
Adopted Date			C	7/2	20/2	022	2			
Agenda Item			r	n-5						
CAF#			Γ							
Purchase Req. #			E	320	22-	91				
Result			A	٩do	pte	d				
COUNTY COMMISSIONER	PRES.	ABS.		MOVE	SEC	AYE	NAY	ABST.		
Kelly	~					~				
Haines	~			~		~				
Crea	~					~				
Quinn	~					~				
Vicari	~				~	~				

I HEREBY CERTIFY THAT THIS DOCUMENT IS A TRUE, COMPLETE AND ACCURATE COPY OF THIS RESOLUTION, ADOPTED BY OCEAN COUNTY BOARD OF COMMISSIONERS, NJ AT THE MEETING REFERENCED THEREON

Michelle 1. Gunther

Clerk Of The Board



RESOLUTION

July 20, 2022

WHEREAS, on June 14, 2022, pursuant to legal advertisements therefor, sealed bids were received for the furnishing and delivery of MOTOR VEHICLES: PICKUP TRUCKS for the County of Ocean; and

WHEREAS, at the advertised time, one response was received from the following bidder:

Name of Bidder

Chas S Winner, Inc., dba Winner Ford

Address of Bidder

250 Berlin Road Cherry Hill, NJ 08034 (856) 214-0759

; and

WHEREAS, after the receipt and examination of same, the County Purchasing Agent has now recommended to this Board that the sole qualified bid, according to specifications, namely that of, CHAS S WINNER, INC. DBA WINNER FORD be accepted.

NOW, THEREFORE, BE IT RESOLVED by the BOARD COMMISSIONERS of the COUNTY OF OCEAN, STATE OF NEW JERSEY, as follows:

1. The Director and Clerk of this Board are hereby authorized and directed to enter into a contract accepting the sole bid for the furnishing and delivery of MOTOR VEHICLES: PICKUP TRUCKS for the County of Ocean, for the contract period from date of award through July 19, 2023, a period of one (1) year or until delivery is complete unless otherwise stated. The County reserves the right to extend the term of the contract pursuant to N.J.S.A. 40A:11-15, as follows:

Introduced on: Adopted on: Official Resolution#: 2022000991

July 20, 2022 July 20, 2022

CHAS S WINNER, INC. DBA WINNER FORD for one hundred twelve

(112) items, to wit:

ITEM NOS. 1, 1a, 1b, 1c, 1d, 1e, 1f, 1g, 1h, 1i, 1j, 1k, 1l, 1m, 1n, 1o, 1p, 1q, 2, 2a, 2b, 2c, 2d, 2e, 2f, 2g, 2h, 2i, 2j, 2k, 2l, 2m, 2n, 2o, 2p, 2q, 2r, 2s, 2t, 2u, 2v, 2w, 2x, 2y, 2z, 2aa, 2bb, 3, 3a, 3b, 3c, 3d, 3e, 3f, 3g, 3h, 3i, 3j, 3k, 3l, 3m, 3n, 3o, 3p, 3q, 3r, 3s, 3t, 3u, 3v, 3w, 3x, 3y, 3z, 3aa, 3bb, 4, 4a, 4b, 4c, 4d, 4e, 4f, 4g, 4h, 4i, 4j, 4k, 4l, 4m, 4n, 4o, 4p, 4q, 5, 5a, 5b, 5c, 5d, 5e, 5f, 5g, 5h, 5i, 5j, 5k, 5l, 5m, 5n, 5o, 5p and 5q.

For a Total Lump Sum Award (Item #'s 1 - 1q) of \$814,800.00.

For a Total Lump Sum Award (Item #'s 2 - 2bb) of \$2,237,660.00.

For a Total Lump Sum Award (Item #'s 3 - 3bb) of \$2,269,960.00.

For a Total Lump Sum Award (Item #'s 4 - 4q) of \$1,487,340.00.

For a Total Lump Sum Award (Item #'s 5 - 5q) of \$843,420.00.

This vendor has extended this contract to County Cooperative Contract System Participants.

- 2. Payments for the equipment and services to be acquired by this contract shall be made upon the approval of vouchers submitted by the successful bidders in accordance with the requirements of the Board of Commissioners and subject to the Board of Commissioners customary procedures. Delivery shall be made upon receipt of a Purchase Order issued by the Ocean County Department of Purchase, upon which delivery locations and needed quantities shall be indicated.
- 3. Funds for the equipment and services shall be available within the following funding Source: Vehicle Services O.E.
- 4. The contract number must be placed on all papers, documents, invoices and vouchers pertaining to said contract, the number being B2022-91.
- 5. BE IT FURTHER RESOLVED that certified copies of this Resolution shall be made available to the County Auditor, County Department of Purchasing, Department of Finance, Vehicle Services and the Chas S Winner, Inc., dba Winner Ford the successful bidder.

Introduced on Adopted on:

July 20, 2022 July 20, 2022 PROPOSAL DOCUMENT REPORT Bid No. TBD MOTOR VEHICLES: PICKUP TRUCKS

10. Acknowledgement of Submission of Forms from Current Bid Package*

Bidders shall complete all documents and acknowledge all terms included with the bid package. All documents should be from this bid package as forms change frequently and the most updated forms are provided in this specification. The forms must not be dated or executed prior to the date of advertising. Failure to follow these instructions is cause for rejection.

Confirmed

11. Submission of Bid Package*

By submitting a response to this solicitation, the Vendor understands and acknowledges that all required documents to this solicitation must be submitted and that failure to do so may be cause for rejection.

Bidder also understands that only one (1) bid submission shall be considered. Please DO NOT Submit a manual bid response. Submitting a manual response in addition to the electronic response is cause for rejection of your bid.

Confirmed

PRICE TABLES

ITEM #1 - MODEL YEAR 2022, OR NEWER, FORD RANGER XL 4X4 SUPER CAB PICKUP TRUCK, AS SPECIFIED, OR EQUAL

,	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments
/	1	Model Year 2022, or Newer, Ford Ranger XL 4X4 Super Cab Pickup Truck, As Specified, or Equal	20	EA	\$30,755.00	\$615,100.00		
,	OPTIONS			',	'	1	`.	•
	1a	SuperCab 4X2 - 6' Box (Pkg R1E), As Specified	20	EA	-\$2,940.00	-\$58,800.00		
	1b	Bed Utility (Pkg 86Q), As Specified	20	EA	\$375.00	\$7,500.00		
	1c	Trailer Tow (Pkg 53R), As Specified	20	EA	\$465.00	\$9,300.00		

PROPOSAL DOCUMENT REPORT Bid No. TBD MOTOR VEHICLES: PICKUP TRUCKS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comment
1d	Electronic-Locking Rear Differential (Pkg X73), As Specified	20	EA	\$395.00	\$7,900.00		
1e	Tonneau Pickup Box Cover - Soft Folding (Pkg 94D), As Specified	20	EA	\$495.00	\$9,900.00	·	
1f	Tonneau Pickup Box Cover - Hard Folding (Pkg 94E), As Specified	20	EA	\$935.00	\$18,700.00		
1g	Tonneau Pickup Box Cover - Retractable (Pkg 94J), As Specified	20	EA	\$1,595.00	\$31,900.00		
1h	Exterior Backup Alarm (Pkg 60H), As Specified	20	EA	\$140.00	\$2,800.00		
1i	Sync (Pkg 58E), As Specified	20	EA	\$820.00	\$16,400.00		
1 j	Furnish and Install: Mini Liberty II IT9 Series Light Bar - Permanent Mount with 15' Cable, As Specified	20	EA	\$1,315.00	\$26,300.00		
1k	Trailer Brake Controller, As Specified	20	EA	\$435.00	\$8,700.00		
) ii	Spray-in Bedliner (Pkg 86S) (N/A with Bed Utility Pkg 86Q), As Specified	20	EA	\$465.00	\$9,300.00		1
1m	Equipment Group 101A, As Specified	20	EA	\$1,070.00	\$21,400.00		
1n	Ford Protect ExtraCare Extended Service Plan, As Specified	20	EA	\$2,570.00	\$51,400.00		
10	Diagnostic Tools / Test Equipment, As Specified	3	SET	\$9,000.00	\$27,000.00	-	
1p	Two-Way Radio Power and Wiring Requirements for New Vehicles, As Specified	20	EA	\$200.00	\$4,000.00		
iq	Installation of County Supplied Two-Way Radio and Accessories, As Specified	20	EA	\$300.00	\$6,000.00		
TOTAL					\$814,800.00		<u>. </u>

ITEM #2 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 SUPER CAB XLT PICKUP TRUCK, AS SPECIFIED, OR EQUAL

Introduced on: July 20, 2022
Adopted BROPOSAL DOG MAN END REPORT
Official Resolution#02092999295: PICKUP TRUCKS

PROPOSAL DOCUMENT REPORT Bid No. TBD

MOTOR VEHICLES: PICKUP TRUCKS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comme
2	Model Year 2022, or Newer, Ford F250 4X4 Super Cab XLT Pickup Truck, As Specified, or Equal	20	EA	\$51,913.00	\$1,038,260.00		
OPTIONS				1			h
2a	8' Box for Super Cab 4X4 (164" Wheelbase), As Specified	20	EA	\$1,390.00	\$27,800.00		
2b	Tonneau Pickup Box Cover - Soft Folding (Pkg 21D), As Specified	20	EA	\$510.00	\$10,200.00		
2c	Tonneau Pickup Box Cover - Hard Folding (Pkg 21E), As Specified	20	EA	\$995.00	\$19,900.00		
2d	Tonneau Pickup Box Cover - Retractable (Pkg 21J), As Specified	20	EA	\$1,640.00	\$32,800.00		
2e	Voice-Activated Navigation with HD and SiriusXM Traffic and Travel Link (Pkg 21N), As Specified	20	EA	\$520.00	\$10,400.00		
2f	XLT Value Package (Pkg 17V), As Specified	20	EA	\$1,350.00	\$27,000.00		
2g	Weather Guard Premium Aluminum Crossbed Toolbox Model 127-0-02 (Pkg 62Y), As Specified	20	EA	\$865.00	\$17,300.00		
2h	Aluminum Crossbed Toolbox by Weatherguard (Defender Series) (Pkg 62X), As Specified	20	EA	\$865.00	\$17,300.00		
2i	Gen 3 Sync Multi-Media Interface Tester (MIT) Kit, As Specified	20	EA	\$580.00	\$11,600.00	·	
2j	Furnish and Install: Whelen IX8AAAA - Liberty II, Solo IX Low Current Series Light Bar - 48", As Specified	20	EA	\$1,555.00	\$31,100.00		
2k	Light Color Option, As Specified	20	EA	\$0.00	\$0.00	georg	
21	Furnish and Install: One (1) Four (4) Head Strobe Light Kit, As Specified	20	EA	\$700.00	\$14,000.00		
2m	Furnish and Install: Vent Shield on All Doors, As Specified	20	EA	\$125.00	\$2,500.00		
2n	Furnish and Install: Western 8 1/2' Ultra Mount Quick Connect Contractor Pro Plus Snow Plow, As Specified	20	EA	\$7,750.00	\$155,000.00		
20	Road Department Color Scheme, As Specified	20	EA	\$3,100.00	\$62,000.00		
2p	Paint Colors Not Included in the Standard Color Chart, As Specified	20	EA	\$660.00	\$13,200.00		

Adopted BROPOSAL DOCEDINED REPORT
Official Resolution#040924916924S: PICKUP TRUCKS

PROPOSAL DOCUMENT REPORT Bid No. TBD MOTOR VEHICLES: PICKUP TRUCKS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Fotal Cost	No Bid	Commen
2q	Liquid Transfer Tank for Diesel Fuel, As Specified	20	EA	\$2,900.00	\$58,000.00		
2r	Under-Cover Tonneau Cover Installed Part Number UC2176, As Specified	20	EA	\$1,150.00	\$23,000.00		
2s	Prosecutors Lighting Package, As Specified	20	EA	\$9,385.00	\$187,700.00	-	
2t	Ford F250 Evidence Locking Storage Box, As Specified	20	EA	\$5,650.00	\$113,000.00		
2u	Ford F-Series Under-Seat Weapons Safe, As Specified	20	EA	\$885.00	\$17,700.00		
2v	Ford F250 Bed Locking Storage, As Specified	20	EA	\$4,800.00	\$96,000.00		
2w	Ford F-Series Bed Slide, As Specified	20	EA	\$3,000.00	\$60,000.00		
2x	Leer Cab-High Cap Model 100RCC for 6 3/4' Box, As Specified	20	EA	\$3,900.00	\$78,000.00		
2y	Leer Cab-High Cap Model 100RCC for 8' Box, As Specified	20	EA	\$3,925.00	\$78,500.00		
2z	Diagnostic Tools / Test Equipment, As Specified	3	SET	\$7,000.00	\$21,000.00		
2aa	Two-Way Radio Power and Wiring Requirements for New Vehicles, As Specified	20	EA	\$270.00	\$5,400.00		
2bb	Installation of County Supplied Two-Way Radio and Accessories, As Specified	20	EA	\$450.00	\$9,000.00		
TOTAL		1	<u> </u>	<u> </u>	\$2,237,660.00		, I,, <u></u>

ITEM #3 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 CREW CAB XLT PICKUP TRUCK, AS SPECIFIED, OR EQUAL

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments
/	3	Model Year 2022, or Newer, Ford F250 4X4 Crew Cab XLT Pickup Truck, As Specified, or Equal	20	EA	\$53,523.00	\$1,070,460.00		
	OPTIONS							-

Introduced on: July 20, 2022 Adopted **อาก**OPOSAL กิญ**Czb)/ป**องวั REPORT Official Reภูลในทุ้งกูต่างว**างวางวังวังวัง**

PROPOSAL DOCUMENT REPORT Bid No. TBD MOTOR VEHICLES: PICKUP TRUCKS

Line !tem	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comment
3 ^a	8' Bed for Crew Cab 4X4 (176" Wheelbase), As Specified	20	EA	\$1,395.00	\$27,900.00	٠	
3b	Tonneau Pickup Box Cover - Soft Folding (Pkg 21D), As Specified	20	EA	\$510.00	\$10,200.00		
3 c	Tonneau Pickup Box Cover - Hard Folding (Pkg 21E), As Specified	20	EA	\$995.00	\$19,900.00		
3d	Tonneau Pickup Box Cover - Retractable (Pkg 21J), As Specified	20	EA	\$1,640.00	\$32,800.00		
3е	Voice-Activated Navigation with HD and SiriusXM Traffic and Travel Link (Pkg 21N), As Specified	20	EA	\$520.00	\$10,400.00		
3f	XLT Value Package (Pkg 17V), As Specified	20	EA	\$1,350.00	\$27,000.00	·	
· 3g	Weather Guard Premium Aluminum Crossbed Toolbox Model 127-0-02 (Pkg 62Y), As Specified	20	EA	\$865.00	\$17,300.00		
3h	Aluminum Crossbed Toolbox by Weatherguard (Defender Series) (Pkg 62X), As Specified	20	EA	\$865.00	\$17,300.00		
3 i	Gen 3 Sync Multi-Media Interface Tester (MIT) Kit, As Specified	20	EA	\$580.00	\$11,600.00		
3 j	Furnish and Install: Whelen IX8AAAA - Liberty II, Solo IX Low Current Series Light Bar - 48", As Specified	20	EA	\$1,555.00	\$31,100.00		
3k	Light Color Option, As Specified	20	EA	\$0.00	\$0.00	-	
3ļ	Furnish and Install: One (1) Four (4) Head Strobe Light Kit, As Specified	20	EA	\$700.00	\$14,000.00		
3m	Vent Shield on All Doors, As Specified	20	EA	\$125.00	\$2,500.00		
3'n	Furnish and Install: Western 8 1/2' Ultra Mount Quick Connect Contractor Pro Plus Snow Plow, As Specified	20	EA	\$7,750.00	\$155,000.00	·	
3о	Road Department Color Scheme, As Specified	20	. EA	\$3,100.00	\$62,000.00		
3p	Paint Colors Not Included in the Standard Color Chart, As Specified	20	EA	\$660.00	\$13,200.00		
3q	Liquid Transfer Tank for Diesel Fuel, As Specified	20	EA	\$2,900.00	\$58,000.00		
3r	Leer Cab-High Cap Model 100RCC for 6 3/4' Box, As Specified	20	EA	\$3,900.00	\$78,000.00		1

Introduced on: July 20, 2022 Adopted BROPOSAL QQC blow E025 REPORT Official RBRかい成内の半〇名の220003925S: PICKUP TRUCKS

PROPOSAL DOCUMENT REPORT Bid No. TBD MOTOR VEHICLES: PICKUP TRUCKS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comment
3s	Leer Cab-High Cap Model 100RCC for 8' Box, As Specified	20	EA	\$3,925.00	\$78,500.00		
3t	Under-Cover Tonneau Cover Installed Part Number UC2176, As Specified	20	EA	\$1,150.00	\$23,000.00		
3u	Ford F250 Evidence Locking Storage Box, As Specified	20	EA	\$885.00	\$17,700.00		
3v	Ford F-Series Under-Seat Weapons Safe, As Specified	20	EA	\$5,650.00	\$113,000.00		
3w	Prosecutors Lighting Package, As Specified	20	EA	\$9,385.00	\$187,700.00		
3x	Ford F250 Bed Locking Storage, As Specified	20	EA	\$4,800.00	\$96,000.00		
Зу	Ford F-Series Bed Slide, As Specified	20	EA	\$3,000.00	\$60,000.00		
3z	Diagnostic Tools / Test Equipment, As Specified	3	SET	\$7,000.00	\$21,000.00		
3aa	Two-Way Radio Power and Wiring Requirements for New Vehicles, As Specified	20	EA	\$270.00	\$5,400.00		
3bb	Installation of County Supplied Two-Way Radio and Accessories, As Specified	20	EA	\$450.00	\$9,000.00		
TOTAL	J				\$2,269,960.00		_1

ITEM #4 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 STANDARD CAB XLT PICKUP TRUCK, AS SPECIFIED, OR EQUAL

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments
	4	Model Year 2022, or Newer, Ford F250 4X4 Standard Cab XLT Pickup Truck, As Specified, or Equal	20	EA	\$49,372.00	\$987,440.00	•	
	OPTIONS							
	4a	Tonneau Pickup Box Cover - Soft Folding (Pkg 21D), As Specified	20	EA ·	\$510.00	\$10,200.00		
/	4b	Tonneau Pickup Box Cover - Hard Folding (Pkg 21E), As Specified	20	EA	\$995.00	\$19,900.00		

Introduced on: July 20, 2022 Adopted BROPOSAL DQC bkl//£012 REPORT Official Reselution#ე2022902915: PICKUP TRUCKS

PROPOSAL DOCUMENT REPORT Bid No. TBD

MOTOR VEHICLES: PICKUP TRUCKS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Commen
4c	Tonneau Pickup Box Cover - Retractable (Pkg 21J), As Specified	20	EA	\$1,640.00	\$32,800.00	4.	
4d	Voice-Activated Navigation with HD and SiriusXM Traffic and Travel Link (Pkg 21N), As Specified	20	EA	\$520.00	\$10,400.00		
4e	XLT Value Package (Pkg 17V), As Specified	20 ·	EA	\$1,350.00	\$27,000.00		
	Gen 3 Sync Multi-Media Interface Tester (MIT) Kit, As Specified	20	EA	\$580.00	\$11,600.00		
4g	Furnish and Install: Whelen IX8AAAA - Liberty II, Solo IX Low Current Series Light Bar - 48", As Specified	20	EA	\$1,555.00	\$31,100.00	V-15-	
4h	Furnish and Install: One (1) Four (4) Head Strobe Light Kit, As Specified	20	EA	\$700.00	\$14,000.00		
4i	Vent Shield on All Doors, As Specified	20	EA	\$80.00	\$1,600.00		
4 j	Furnish and Install: Western 8 1/2' Ultra Mount Quick Connect Contractor Pro Plus Snow Plow, As Specified	20	EA	\$7,750.00	\$155,000.00		
4k	Weather Guard Premium Crossbed Toolbox Model 127-0-02, As Specified	20	EA .	\$885.00	\$17,700.00		
41	Road Department Color Scheme, As Specified	20	EA	\$3,100.00	\$62,000.00		
4m	Paint Colors Not Included in the Standard Color Chart, As Specified	20	EA	\$660.00	\$13,200.00		
4n	Liquid Transfer Tank for Diesel Fuel, As Specified	20	EA	\$2,900.00	\$58,000.00		
4 0	Diagnostic Tools / Test Equipment, As Specified	3	SET	\$7,000.00	\$21,000.00		
4 p	Two-Way Radio Power and Wiring Requirements for New Vehicles, As Specified	20	EA	\$270.00	\$5,400.00		
4 q	Installation of County Supplied Two-Way Radio and Accessories, As Specified	20	EA	\$450.00	\$9,000.00		
TOTAL	I	-L	1		\$1,487,340.00		

ITEM #5 - MODEL YEAR 2022, OR NEWER, FORD RANGER XL 4X4 SUPERCREW PICKUP TRUCK, AS SPECIFIED, OR EQUAL

Introduced on: July 20, 2022

Adopted PROPOSAL DOCKNAMI REPORT
Official Resolution#0209299825: PICKUP TRUCKS

PROPOSAL DOCUMENT REPORT Bid No. TBD MOTOR VEHICLES: PICKUP TRUCKS

Line Item Description Quantity Unit of Unit Cost Total Cost No Bid Comments Measure \$32,786.00 \$655,720.00 Model Year 2022, or Newer, Ford Ranger XL 4X4 SuperCrew Pickup Truck, As Specified, or Equal 20 EΑ **OPTIONS** 5a SuperCrew 4X2 - 5' Box (Pkg R4E), As Specified 20 EΑ -\$3,540.00 -\$70,800,00 5b Bed Utility (Pkg 86Q), As Specified 20 EA \$375.00 \$7,500.00 \$9,300.00 Trailer Tow (Pkg 53R), As Specified 20 EΑ \$465.00 5d Electronic-Locking Rear Differential (Pkg X73), As Specified 20 EΑ \$7,900.00 \$395.00 5e \$9,900.00 Tonneau Pickup Box Cover - Soft Folding (Pkg 94D), As Specified 20 \$495.00 5f Tonneau Pickup Box Cover - Hard Folding (Pkg 94E), As Specified 20 EΑ \$935.00 \$18,700.00 Tonneau Pickup Box Cover - Retractable (Pkg 94J), As Specified \$1,595.00 \$31,900.00 5g ĒΑ 5h Exterior Backup Alarm (Pkg 60H), As Specified 20 EΑ \$140.00 \$2,800.00 5i Sync (Pkg 58E), As Specified 20 EA \$820.00 \$16,400.00 5j Furnish and Install: Mini Liberty II IT9 Series Light Bar - Permanent Mount, As Specified 20 EΑ \$1,315.00 \$26,300.00 5k Trailer Brake Controller, As Specified 20 EΑ \$435.00 \$8,700.00 51 Spray-in Bedliner (Pkg 86S), As Specified 20 EΑ \$465.00 \$9,300.00 5m Equipment Group 101A, As Specified 20 EΑ \$1,070.00 \$21,400.00 5n Ford Protect ExtraCare Extended Service Plan, As Specified 20 EΑ \$2,570.00 \$51,400.00 **5**0 Diagnostic Tools / Test Equipment, As Specified 3 SFT \$9,000.00 \$27,000.00 Two-Way Radio Power and Wiring Requirements for New Vehicles, As Specified 20 ĘΑ \$200.00 \$4,000.00 Installation of County Supplied Two-Way Radio and Accessories, As Specified 20 EA \$300.00 \$6,000.00

uly 20 2022

PROPOSAL DOCUMENT REPORT Bid No. TBD MOTOR VEHICLES: PICKUP TRUCKS

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments
\	TOTAL					\$843,420.00		

Page 1A of 36

<u>ITEM #1 - MODEL YEAR 2022, OR NEWER, FORD RANGER XL 4X4 SUPER CAB PICKUP TRUCK, AS SPECIFIED, OR EQUAL</u>

Please enter the below information about the model of vehicle your company will be providing

Manufacturer: Ford

Warranty: See attached

Delivery, A.R.O.: Delivery is unknown at this time.

Remarks: Click or tap here to enter text.

Click or tap here to enter text.

Click or tap here to enter text.

Introduced on: July 20, 2022 Adopted on: July 20, 2022 Official Resolution#: 2022000991

Page 2A of 36

TRUCK, AS SPECIFIED, OR EQUAL (CONT'D)

TRUCK, AS SPECIFIED, OR EQUAL (CONT'D)	COMPI	
DECCRIPTION	<u>YES</u>	<u>NO</u>
<u>DESCRIPTION</u> Model Year 2022, or Newer, Ford Ranger XL 4X4 Super Cab Pickup Truck	\boxtimes	. 🗀
2.3 L Ecoboost Engine with auto start-stop technology	\boxtimes	
6' box	\boxtimes	
4X4 Electronic-shift-on-the-fly	\boxtimes	
Axle, Front – Independent Front Suspension	\boxtimes	. 🗆
Brakes – Anti-Lock Brake System		
Electronic Power-Assist Steering	≅. ⊠	П
SelectShift Automatic Transmission Shock Absorbers, Gasront		
Springs - Front – Coil	5 7	_
- Rear - Leaf, Two-Stage Linear Rate		
Front license plate bracket		-
Mirrors, Side view - Manual-folding, Manual Glass and Integrated spotter mirrors		
Exhaust – Single Rear		
Fully boxed Steel Frame	\boxtimes	
Spare tire Carrier - rear under frame, full-sized spare tire	\boxtimes	·
Tailgate - Manual Locking	\boxtimes	
Tires – P255/70R 16" A/S BSW	\boxtimes	
Wheels – 16" Silver steel	\boxtimes	. 🗆
Windshield wipers – Intermittent speed		
Trailer sway control	\boxtimes	
Trailer towing – 4-pin wiring, ball mounting provisions in rear bumper (does not	N	П
include trailer hitch receiver)		
Black Vinyl Floor Covering		
Review Mirror – Auto-Dimming Seat, Front		
- 8-way Driver's Manual Adjustment w/lumbar		
- 6-way Passenger's Manual adjustment	\boxtimes	
Seat, Rear - Removable cushions		
- Under seat storage		
Steering Wheel- Manual Tilt/Telescoping and manual locking	\boxtimes	
Windows - Power Front Windows		
Introduced Prouch http://doi/1972/driver window Adopted on: July 20, 2022 Official Resolution#: 2022000991		

Page 3A of 36

ITEM #1 - MODEL YEAR 2022, OR NEWER, FORD RANGER XL 4X4 SUPER CAB PICKUP TRUCK, AS SPECIFIED, OR EQUAL (CONT'D)

	COMPLIANCE	
	YES	<u>NO</u>
DESCRIPTION (Cont'd)		
Daytime Running lamps	\boxtimes	
Running Boards (Factory Installed)	\boxtimes	
Rear view Camera	\boxtimes	
Tire Pressure Monitoring system	\boxtimes	
AM/FM Stereo w/Bluetooth Pass Thru and 4 Audio Speakers		
Interior Color: Ebony		
Paint		
Color to be Specified from Standard Color Chart on Purchase Order When Ordering		
Warranty	\boxtimes	
Bumper to Bumper: 3 years/36,000 Miles		٠
Vehicle Equipment Must be Rustproofed and Warrantied by the Manufacturer Against Rust for five (5) years or 50,000 miles, Whichever Comes Last. This Equipment Must Also Meet or Exceed All Applicable State, Federal and PEOSHA Laws and	. *	
Regulations		
OPTIONS:		
1A. <u>SuperCab 4X2 – 6' Box (R1E)</u>	\boxtimes	
1B. Bed Utility (Pkg 86Q) Incudes:		
- Drop In Bed Liner		
- 12V power plug - Rearview Camera		
Not Available with spray in bed liner	\boxtimes	
1C. Trailer Tow (Pkg 53R)		
Includes: - 4-pin/7-pin wiring harness		
- Class IV trailer hitch receiver	\boxtimes	
1D. Electronic-locking Rear Differential (Pkg X73)	\boxtimes	
1E. Tonneau Pickup Box Cover – Soft Folding (Pkg 94D) (Not available with Crossbed Storage tool box or bed utility package)	\boxtimes	

Introduced on:

July 20, 2022

Page 4A of 36

TITEM #1 - MODEL YEAR 2022, OR NEWER, FORD RANGER XL 4X4 SUPER CAB PICKUP TRUCK, AS SPECIFIED, OR EQUAL (CONT'D)

	COMPLIANC	
	YES	<u>NO</u>
OPTIONS: (Cont'd)	V	
1F. Tonneau Pickup Box Cover – Hard Folding (Pkg 94E)	·	
(Not available with Crossbed Storage tool box or bed utility package)	\boxtimes	
AG TE Property Design Detweetchie (Pira 04 D		•
/1G. Tonneau Pickup Box Cover – Retractable (Pkg 94J) (Not available with Crossbed Storage tool box or bed utility package)		
(Not available with Crossoca Storage tool on or oca analy facilities)		
1H. Exterior Backup Alarm (Pkg 60H)		
/1I. Sync (Pkg 58E)		
- Enhanced Voice Recognition Communications and Entertainment System	•	•
- 4.2" LCD Display in center Stack		
- 911 Assist		٠
- Smart Charging USB ports – one (1)	\boxtimes	П
- Applink		
1J. Furnish and Install Mini Liberty II IT9 Series Light Bar- Permanent Mount		
with 15' Cable	•	
Fully Lit Amber with Two short Super-LED White Takedown and Alley Lights wired		
on four (4) separate switches.	\boxtimes	
		. <u>_</u>
1K. Trailer Brake Controller		Ų
/1L. Spray-in Bedliner (Pkg 86S) (N/A with Bed Utility Pkg 86Q)		
/1M. Equipment Group 101A	•	
- 6 Audio Speakers		
- Cruise Control		
- Perimeter Anit-Theft Alarm		
- Power Glass Sideview Mirror		
- Day/night rearview mirror		
- Remote Key Fob w/Tailgate lock		
- Sync		
 Enhanced Voice Recognition Communications and Entertainment system 4.2" LCD Display in center stack 		
• 911 Assist		
■ Smart charging USB port – one (1)		
■ Applink		
	,	
/IN. Ford Protect ExtraCare Extended Service Plan Covering 113 components 8 years/125,000 miles with \$0.00 deductible.	\boxtimes	П
LOVETING LES COMPONENTS A VERTS/LZ EURO MILES WILL MULVO UCUBULIDIC.	الخيكا	

Introduced on:

July 20, 2022

Page 5A of 36

ITEM #1 - MODEL YEAR 2022, OR NEWER, FORD RANGER XL 4X4 SUPER CAB PICKUP TRUCK, AS SPECIFIED, OR EQUAL (CONT'D)

	<u>COMPL</u>	<u>LIANCE</u>
	<u>YES</u>	<u>NO</u>
OPTIONS: (Cont'd)		
1N. Ford Protect ExtraCare Extended Service Plan (Cont'd) Covering 113 components. 8 years/125,000 miles with \$0.00 deductible.	×	
10. <u>Diagnostic Tools / Test Equipment</u> 1. Successful bidder may be required to supply between one (1) to three (3)		
complete sets of OEM test/diagnostic/ programming equipment (i.e. laptop,		
software, cabling, and adapters) and special tools required to perform the full		
range of diagnostic and maintenance actions necessary to maintain vehicle		
operability. This equipment will cover the vehicle chassis, engine,		
transmission, brakes, hydraulics, and all additional equipment (if applicable).	\boxtimes	
2. Provide a list of all test/diagnostic/programming equipment and special tools		
being supplied at the time of bid.	\boxtimes	
3. All software installations and activations will be completed by the successful		
bidder at no cost to the County.	\boxtimes	
4. All software updates and renewal will be provided at no cost to the County for a		
period of five (5) years from the acceptance of the equipment.		· 🗀
5. All technical issues relating to test/diagnostic/programming equipment and		
special tools shall be resolved by the successful bidder at no cost to the County		·
for a period of five (5) years from the acceptance of the equipment.	\boxtimes	
6. Training shall be provided on all items in this section at a County location.		
7. All laptop computers will be of the newest available technology and have		
sufficient storage and memory to operate all required software.		
1P. Two-Way Radio Power and Wiring Requirements for New Vehicles For the purpose of installing two-way radios into new County vehicles and equipment, the following power and wiring components shall be included:		
- #12 AWG RED wire connected to 12VDC Battery Source rated at 20 Amps.		
 #12 AWG BLACK wire connected to chassis ground. #16 AWG YELLOW wire connected to 12VDC Ignition Sense rated at 5 		
Amps.		
These wires shall be encased in plastic wire loom and routed from their source into the cab of the vehicle and secured in the vicinity of the operator. The wiring harness shall be clearly labeled "TWO-WAY RADIO". The wires shall be unterminated. The 12VDC	⊠	
sources shall be protected from making contact with grounded metal surfaces.	\boxtimes	

Introduced on: July 20, 2022 Adopted on: July 20, 2022 Official Resolution#: 2022000991

Page 6A of 36

ITEM #1 - MODEL YEAR 2022, OR NEWER, FORD RANGER XL 4X4 SUPER CAB PICKUP

TRUCK, AS SPECIFIED, OR EQUAL (CONT'D)

COMPLIANCE YES

OPTIONS: (Cont'd)

1Q. Installation of County Supplied Two-Way Radio and Accessories

Install is to include but not limited to antenna cable, mounts, speakers, brackets, etc. For the purpose of installing two-way radios into new County vehicles and equipment, the following power and wiring components shall be included:

- #12 AWG RED wire connected to 12VDC Battery Source rated at 20 Amps.
- #12 AWG BLACK wire connected to chassis ground.
- #16 AWG YELLOW wire connected to 12VDC Ignition Sense rated at 5 Amps.

These wires shall be encased in plastic wire loom and routed from their source into the cab of the vehicle. The wiring harness shall be clearly labeled "TWO-WAY RADIO". The 12VDC sources shall be protected from making contact with grounded metal surfaces.

 \boxtimes

Introduced on: Adopted on:

July 20, 2022 July 20, 2022

Official Resolution#: 2022000991

Page 7A of 36

ITEM #2 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 SUPER CAB XLT PICKUP TRUCK, AS SPECIFIED, OR EQUAL

Please enter the below information about the model of vehicle your company will be providing

Manufacturer: Ford

Warranty: See attached

Delivery, A.R.O.: Unknow at this time

Remarks: Click or tap here to enter text.

Click or tap here to enter text. Click or tap here to enter text.

Introduced on:

July 20, 2022 Adopted on: July 20, 2022 Official Resolution#: 2022000991

Page 8A of 36 TEM #2 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 SUPER CAB XLT PICKUP TRUCK, AS SPECIFIED, OR EQUAL (CONT'D)

AS SPECIFIED, OR EQUAL (CONT'D)		COMPL	TANCE
		YES	NO
DESCRIPTION	•	1125	110
Model Year 2022 or Newer, Ford F250 4X4 Super Cab XLT Pickup Tr	uck	\boxtimes	
6.2L 2 Valve V8 Gas/TorqShift-G six-speed automatic with selectshift	automatic	\boxtimes	
Wheel Base 148"		\boxtimes	
6-3/4' Cargo box			
Manual Locking hubs		\boxtimes	. 🗆
Front Axle – Mono-beam front axle with coil spring suspension Rear A	xle - Non-	-	
limited slip		\boxtimes	
Tire Pressure Monitoring System			
Trailer tow package - 7-wire harness with relays and 7/4 pin connector		\boxtimes	
Center high-mounted stop lamp	•	\boxtimes	
Brakes - Four Wheel Disc with Anti-lock brake system - Roll Stability	control/trailer	57	_
sway control/traction control		⊠ 57	
Alternator – 240 Amp		⊠ ⊠	_
Battery – 750-CCA, 78-AH		⊠ ⊠	
Shock absorbers – Heavy Duty Gas Stabilizer bar – Front		⊠	
		⊠	
Steering - Power			. 🗆
Steering damper Front license plate bracket	•		
Glass – Privacy (2 nd Row (rear seat) windows.)			
Jack - Two Ton Mechanical		\boxtimes	
Lamps – pickup box and cargo area		\boxtimes	. 🗆
Spare tire, wheel, lock and frame mounted carrier			
Tailgate – removable w/key lock, black handle			
"Three-blink" lane change signal			
Tie-down hooks – Pickup box, Four(4)			
Tow hooks – Front, two (2)		\boxtimes	
Power window/lock switches	_·•	\boxtimes	
4.2" LCD Productivity screen display includes menus for Gauge setup.	, Trip	\boxtimes	
Computer, Fuel Economy and towing/off-road applications Horn – Dual electric	•	\boxtimes	
Upfitter Switches (6) (located in overhead console) (66S)			
Windshield Wipers – Intermittent		\boxtimes	
Driver and passenger frontal and side airbag/curtain			
Seatbelts with height adjustment Introduced on: July 20, 2022 Adopted on: July 20, 2022 Official Resolution#: 2022000991		×	. 🗆

Page 9A of 36

ITEM #2 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 SUPER CAB XLT PICKUP TRUCK, AS SPECIFIED, OR EQUAL (CONT'D)

The second of th	COMPL	<u>IANCE</u>
	YES	<u>NO</u>
DESCRIPTION (CONT'D)		
6-ton combination hitch: - 2 inch ball and pintle - Adjustable Tri-ball hitch with 1-7/8 in. ball, 2 in ball, 2-5/16 in ball. - Locking hitch pin with key - Hitch is to fit tightly into the receiver		
 In the event the hitch, does not fit tightly, then a sleeve shall be provided. (Ford Part Number: HC3Z-19H282-A) 	\boxtimes	
Headlamp/lamps - Quad Beam Jewel Effect	\boxtimes	
Mirrors- Manually telescoping/folding trailer tow with power/heated glass, heated convex spotter mirror, integrated clearance lamps/turn signals		
LT275/65R18 with 18" sparkle silver painted Cast Aluminum with bright hub covers/center ornaments Windows – 1 st Row power w/one-touch up/down, 2 nd Row power Air Conditioning – Manual, Single zone		
Sync 3 – Enhanced Voice Recognition communications and entertainment system Carpet Delete – Factory Fleet Option (Pkg 166) Seats		
 Front – cloth 40/20/40 split bench, 20% center locking under-seat storage, Rear- cloth, 60/40 fold up bench seat Snow Plow Prep package (Pkg 473) 		
Skid Plates - Transfer Case and Fuel Tank (Pkg 41P)		
Full Running Boards on Cab (Factory Installed)		
Interior color: Medium Earth Gray	\boxtimes	
Tough Bed Spray in liner – Includes tailgate-guard, black box bed tie-down hooks and black bed attachment bolts (Pkg 85S) Trailer Brake Controller	⊠ ⊠	
Paint: Color to be specified from Standard color chart on Purchase order when ordering		
Undercoating Entire Chassis and underside of cab to be coated with tectyl 2423 or Z Guard Product, or equal. This is a low VOC, high solids, emulsion corrosion preventative coating.	⊠¹	· .

Introduced on:

July 20, 2022

Page 10A of 36

ITEM #2 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 SUPER CAB XLT PICKUP TRUCK, AS SPECIFIED, OR EQUAL (CONT'D)

STREET TEST, OK EQUITE (CONT. 2)	COMPL	
	<u>YES</u>	<u>NO</u>
<u>DESCRIPTION</u> (CONT'Ď)		
Warranty:		,
Bumper to Bumper: 3 years/36,000 miles		
Vehicle Equipment Must Be Rustproofed and Warrantied by the Manufacturer Against Rust for Five (5) Years or 50,000 Miles, Whichever Comes Last. This Equipment Must Also Meet or Exceed All Applicable State, Federal and PEOSH	[A	
Laws and Regulations		
OPTIONS:		
$\sqrt{2A. 8' \text{ Box for SuperCab 4x4 (164" Wheelbase)}}$		
2B. Tonneau Pickup Box Cover – Soft Folding (Pkg 21D) (Not available with the crossbed toolbox, stowable loading ramps, or drop in		
bedliner)		. 🗆
2C. Tonneau Pickup Box Cover – Hard Folding (Pkg 21E) (Not available with the crossbed toolbox, stowable loading ramps, or drop in bedliner)		
2D. Tonneau Pickup Box Cover – Retractable (Pkg 21J)		
(Not available with the crossbed toolbox, stowable loading ramps, or drop in bedliner)		
/ 2E. <u>Voice-Activated Navigation with HD and Sirius XM Traffic and Travel</u> (Pkg 21N)	<u>Link</u> ⊠	
2F. XLT Value Package (Pkg 17V) Autolock/Auto unlock, fog lamps, power Driver's Seat, Reverse sensing system, SecuriCode keyless entry keypad (Driver's side)		
2G. Weather Guard Premium Aluminum Crossbed Toolbox Model 127-0-02 (Pkg 62Y)	2	
Includes six (6) sets of keys.		
2H. Aluminum Crossbed Toolbox By Weatherguard (Defender Series) (Pkg Includes Six (6) Sets Of Keys.	<u>62X)</u> ⊠	
2I. Gen 3 Sync Multi-Media Interface Tester (MIT) Kit (Rotunda Part Number: 105-00120-GEN3)		

Introduced on:

July 20, 2022

MOTOR VEHICLES: PICKUP TRUCKS ITEM #2 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 SUPER CAB XLT	_	RUCK. AS
SPECIFIED, OR EQUAL (CONT'D)		
A CONTRACT OF A CONTRACT OF THE CONTRACT OF TH	COMPL	IANCE
	YES	NO
OPTIONS: (Cont'd)	, - ,	• •
2J. Furnish and Install: Whelen IX8AAAA - Liberty II, Solo IX Low Current		
Series Light Bar - 48"		
Fully loaded with all Amber, LED's which includes:		
- Four (4) corners		
- Four (4) front-facing		
- Six (6) rear-facing		
 Two (2) White Take Down Lights in Front, 		
- Two (2) White Alley Lights	_	_
 Corner light wired on a Separate switch 	\boxtimes	L
✓ 2K. <u>Light Color Option</u>		
Red and blue modules in lieu of amber for Sheriff Depart or OEM, keeping the amber		
rear arrow stick	\boxtimes	
real arrow stick		
2L. Furnish and Install: One (1) Four (4) Head Strobe Light Kit		
Including:		
Two (2) front and two (2) rear to be installed in the parking light lens area with the		
front and rear being on separate switches.	\boxtimes	
	_	
J 2M. Furnish and Install: Vent Shield on All Doors	\boxtimes	
2N. Furnish and Install Western 8-1/2' Ultra Mount Quick Connect Contractor		•
Pro Plus Snow Plow		
Including hand held controller and snow shield complete with electric, hydraulics and		•
light kit installed on vehicle.	\boxtimes	
✓ 20. Road Department Color Scheme		
Dupont 4357A - School bus yellow from the bottom of the windows down. Academy		
blue # 5240 from the bottom of the windows up to and including cab roof and back,		
on hood from bottom of windshield to a point on the hood to make a "V" and match	-	
the road department fleet. (Note: Not all Vehicles will be painted this way)		Ш
on Divide Note that the Standard Color Chart		•
J2P. Paint Colors Not Included in the Standard Color Chart	\boxtimes	
i.e. – School bus yellow, Green Gem		

Introduced on: July 20, 2022 Adopted on: July 20, 2022 Official Resolution#: 2022000991

Page 12A of 36

ITEM #2 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 SUPER CAB XLT PICKUP TRUCK,

<u>AS</u>	SPECIFIED,	OR EQUAL	(CONT'D)	

COMPLIANCE NO YES

OPTIONS: (Cont'd)

20. Liquid Transfer Tank For Diesel Fuel

- Weatherguard Transfer Tank, L Shape, 75 gal, Part number 352-3-01 Approx. Height 26 in, Approx. Width 30 in, approx. length 43 in.
- Fill-Rite Standard Duty DC Rotary Vane Pump 15GPM Fill-Rite Part Number - FR1210GA
- Fill-Rite Particulate Filter Fill Rite Part Number 1200KTF7018
- Fill-Rite Heavy Duty Flow Meter 3 Wheel Mechanical Flow Meter up to 20 GPM at 50 PSI Pressure rating - Fill-Rite Part Number FR807C.

Installed with a switch wired in the cab of the truck.

X		

2R. UnderCover Tonneau Cover Installed Part Number UC2176

(for the 6-3/4' Cargo box only)

2S. Prosecutors Lighting Package

(Colors to be determined at the time of order)

- **Electrical System**
 - QTY 1 Central Control system, solid state (Soundoff Signal part number ENGCC01243 or equal)
 - QTY 1 Central Control Harness (Soundoff Signal part number ENGHNK01 or equal)
 - QTY 1 100 Watt Siren amp output module (Soundoff Signal part number ETSA461HPP or equal)
 - OTY 1 Vehicle Data control module (Soundoff Signal part number ENGLNK002 or equal)

All installed aftermarket electronic equipment must be wired to the control system. Every Component must be wired to its own output to allow for easy diagnosing and updating. The system must be capable of load shedding for each output independently based on voltage settings to prevent battery drain. All warning lights and sirens must be able to be controlled and programed through the system. This system must have capability of adjustable timed shutdown for all outputs independently to allow the equipment to stay on after vehicle ignition is turned off. It must have self-diagnostics capability with a fault log and use OBD data module for inputs from the vehicle. The system must be wired into the vehicle ignition system to provide ignition security system.

Lighting and Siren

QTY 1 - Interior 12 LED eight module light bar with dual color heads. (Soundoff Signal Part Number: ENFWBF or equal) - Manual dimming capability for nighttime use and Cruise mode. Comes with a Windows PC software application for ease of programming.

Introduced on: Adopted on:

July 20, 2022 July 20, 2022

Official Resolution#: 2022000991

WINNER FORD Page 13A of 36 MOTOR VEHICLES: PICKUP TRUCKS TEM #2 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 SUPER CAB XLT PICKUP TRUCK. AS SPECIFIED, OR EQUAL (CONT'D) COMPLIANCE NO **OPTIONS:** (Cont'd) 2S. Prosecutors Lighting Package (Cont'd) (Colors to be determined at the time of order) Lighting and Siren (Cont'd) QTY 1 – 100 Watt Siren Speaker and bracket. (Soundoff Signal Part Number: ETSS100N or equal) Mounted on Vehicle Specific bracket. QTY 4 – Single Deck/Grille mount light SAE Class 1, 10-16V 12 LED. (Soundoff Signal Part Number: ENFSGS3 or equal) Mounted behind Grille. (Light head must be able to interchange mount, including deck, recess, surface and windshield mounts for easy repairs and repurposing.) OTY 1 – Select-a-pattern headlight flasher, solid state, 12V isolation module. (Soundoff Signal Part Number: ETHFSS-SP-ISO or equal) headlight flasher does not feedback into any factory wiring. QTY 10 - Multicolored light with silicon molded one-piece housing and Optic. (Soundoff Signal Part Number: EMPS2STS4 or equal) Side intersection Warning lights 2 on Ford Logo in Fender, 2 per running board and 2 under rear taillights. There should also be 2 mounted under rear tailgate wired to flash S/T/T and white in reverse. OTY 4 – LED insert with cruise mode (Soundoff Signal Part Number ELUC3S025W or equal) Installed in reverse light housing. • OTY 2 - Dual Deck/Grille Mount Light, SAE Class 1, 10-16v, Black Housing, 9 LED, multicolored. (Soundoff Signal Part Number: ENFDGS2 or equal) • QTY 1 - Dash Bracket, Vehicle Specific bracket no holes drilled (Panvise bracket number 75107-510 or equal) Window Tint - All windows and windshield 20% utilizing 3M or Johnson window film. Install County supplied Radio with GPS antenna & TriPlexer 図 2T. Ford F250 Evidence Locking Storage Box Dual locking drawer system. Dual Key Lock & Digital Combo Lock. Full bed depth. Powder coated aluminum. Bedliner coating on top. Drawers: 1/8 aluminum, 18 inch Drawer depth. Heavy 500lb Duty locking slides.

2U. Ford F-Series Under-Seat Weapons Safe

Exterior latch for evidence seal

Full undersea width weapons vault. 46 inches Long 10 inches High. Simplex lock with metal latch. ¾ inch MDO Plywood with bedliner coating. There are to be metal reinforcements around opening for extra security and Hi density foam cut to weapon size. Secures with no holes drilled into vehicle.

X

 \boxtimes

Introduced on: July 20, 2022 Adopted on: July 20, 2022 Official Resolution#: 2022000991

OTOR VEHICLES: PICKUP TRUCKS
Page 14A of 36
TEM #2 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 SUPER CAB XLT PICKUP TRUCK, MOTOR VEHICLES: PICKUP TRUCKS OR EQUAL (CONT'D)

	COMPL	
OPTIONS: (Cont'd)	<u>YES</u>	<u>NO</u>
2V. Ford F250 Bed Locking Storage	,	
Dual locking drawer system. Key Lock Full bed depth. ¾ inch plywood sealed with		
waterproof bedliner coating.	•	
Drawers: 1/8 aluminum, 12 inch Drawer depth. Doors: Manufactured from 3/4" HDP		
composite material.	5 7	
Heavy 500lb Duty locking slides.	⊠	
2W. Ford F-Series Bed Slide		
Powder coated Steel 3 Rail 1500LB Bed Slide. 100% extension with a spring lock.		
3/16" aluminum Tray mounted to slide. Tray to have a 2" lip on 3 sides, with no lip		
on the operator end. Includes tailgate extension bracket to allow tailgate lays flat when		_
open so bedslide is not required to be raised off the floor.	\boxtimes	
/		
/ 2X. Leer Cab-High Cap Model 100RCC for 6-3/4' Box		
Leer fiberglass Construction, Interior headliner, Commercial cap structural		
reinforcement, Interior dome light, fiberglass base rails, recessed third brake light,		
radius fixed front window, fiberglass painted access side doors, recessed dark tint rear door with screen. Cap must be tri-coat painted to match the color of the truck.	\boxtimes	П.
door with screen. Cap must be til-coat painted to match the color of the truck.		
2Y. Leer Cab-High Cap Model 100RCC for 8' Box		
Leer fiberglass Construction, Interior headliner, Commercial cap structural		
reinforcement, Interior dome light, fiberglass base rails, recessed third brake light,		
radius fixed front window, fiberglass painted access side doors, recessed dark tint rear		
door with screen. Cap must be tri-coat painted to match the color of the truck.	\boxtimes	
		*
√2Z. <u>Diagnostic Tools / Test Equipment</u>	\boxtimes	
1. Successful bidder may be required to supply between one (1) to three (3) complete		
sets of OEM test/diagnostic/ programming equipment (i.e. laptop, software,		
cabling, and adapters) and special tools required to perform the full range of		
diagnostic and maintenance actions necessary to maintain vehicle operability.		
This equipment will cover the vehicle chassis, engine, transmission, brakes,	0	
hydraulics, and all additional equipment (if applicable).		
2. Provide a list of all test/diagnostic/programming equipment and special		_
tools being supplied at the time of bid.		
3. All software installations and activations will be completed by the	· [57]	
successful bidder at no cost to the County.		Ц
4. All software updates and renewal will be provided at no cost to the		
County for a period of five (5) years from the acceptance of the	·	
equipment.	\boxtimes	

Introduced on: July 20, 2022 Adopted on: July 20, 2022 Official Resolution#: 2022000991

 \boxtimes

Page 15A of 36 MOTOR VEHICLES: PICKUP TRUCKS TEM #2 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 SUPER CAB XLT PICKUP TRUCK. AS SPECIFIED, OR EQUAL (CONT'D) **COMPLIANCE** YES NO **OPTIONS:** (Cont'd) 2Z. Diagnostic Tools / Test Equipment (Cont'd) 5. All technical issues relating to test/diagnostic/programming equipment and special tools shall be resolved by the successful bidder at no cost to the County for a period of five (5) years from the acceptance of the X П equipment. 6. Training shall be provided on all items in this section at a Count location. X 7. All laptop computers will be of the newest available technology and have \boxtimes sufficient storage and memory to operate all required software. 2AA. Two-Way Radio Power and Wiring Requirements for New Vehicles For the purpose of installing two-way radios into new County vehicles and equipment, the following power and wiring components shall be included: - #12 AWG RED wire connected to 12VDC Battery Source rated at 20 Amps - #12 AWG BLACK wire connected to chassis ground. - #16 AWG YELLOW wire connected to 12VDC Ignition Sense rated at 5 Amps. These wires shall be encased in plastic wire loom and routed from their source into the cab of the vehicle and secured in the vicinity of the operator. The wiring harness shall be clearly labeled "TWO-WAY RADIO". The wires shall be unterminated. The 12VDC \boxtimes sources shall be protected from making contact with grounded metal surfaces. 2BB. Installation of County Supplied Two Way Radio and Accessories Install is to include but not limited to antenna cable, mounts, speakers, brackets, etc. For the purpose of installing two-way radios into new County vehicles and equipment, the following power and wiring components shall be included: - #12 AWG RED wire connected to 12VDC Battery Source rated at 20 Amps - #12 AWG BLACK wire connected to chassis ground. - #16 AWG YELLOW wire connected to 12VDC Ignition Sense rated at 5 Amps. These wires shall be encased in plastic wire loom and routed from their source into the cab of the vehicle. The wiring harness shall be clearly labeled "TWO-WAY RADIO".

The 12VDC sources shall be protected from making contact with grounded metal

Introduced on: July 20, 2022 Adopted on: July 20, 2022 Official Resolution#: 2022000991

surfaces.

Page 16A of 36

TEM #3 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 CREW CAB XLT PICKUP TRUCK, AS SPECIFIED, OR EQUAL

Please enter the below information about the model of vehicle your company will be providing

Manufacturer: Ford

Warranty: See attached

Delivery, A.R.O.: Delivery is unknown at this time

Remarks: Click or tap here to enter text.

Click or tap here to enter text.

Click or tap here to enter text.

Introduced on:

July 20, 2022

MOTOR VEHICLES: PICKUP TRUCKS 1 TEM #3 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 CREW CAB XLT PICKUP TRUCK, AS SPECIFIED, OR EQUAL (CONT'D)

	COMPI	<u> IANCE</u>
DESCRIPTION	<u>YES</u>	<u>NO</u>
Model Year 2022 or Newer, Ford F250 4X4 Crew Cab XLT Pickup Truck	\boxtimes	
6.2L 2 Valve V8 Gas/TorqShift-G six-speed automatic with selectshift automatic	🛛	
Wheel Base 160"	\boxtimes	. 🗆
6-3/4' Cargo box	\boxtimes	
Manual Locking hubs (4X4)	\boxtimes	
Front Axle - Mono-beam front axle with coil spring suspension Rear Axle - Non-		
limited slip	\boxtimes	
Tire Pressure Monitoring System	\boxtimes	
Trailer tow package – 7-wire harness with relays and 7/4 pin connector	⊠	
Center high-mounted stop lamp	\boxtimes	
Brakes - Four Wheel Disc with Anti-lock brake system - Roll Stability control/trailer	\boxtimes	
sway control/traction control Alternator – 240 Amp	— ⊠	. 🗆
•		
Battery – 750-CCA, 78-AH		
Shock absorbers – Heavy Duty Gas		
Stabilizer bar – Front	\boxtimes	
Steering – Power	\boxtimes	
Steering damper	\boxtimes	
Front license plate bracket	\boxtimes	
Glass - Privacy (2 nd Row (rear seat) windows.)		
Jack – Two Ton Mechanical		
Lamps - pickup box and cargo area	\boxtimes	
Spare tire, wheel, lock and frame mounted carrier	\boxtimes	
Tailgate - removable w/key lock, black handle	\boxtimes	
"Three-blink" lane change signal	\boxtimes	
Tie-down hooks – Pickup box, Four (4)	\boxtimes	
Tow hooks – Front, Two (2)	\boxtimes	
Door Trim - Soft armrest, grab handle, power window/lock switches, molded upper		
applique', reflector (applique' and armrest are accent-color); front and rear map		_
pockets		
4.2" LCD Productivity screen display includes menus for Gauge setup, Trip	_	
Computer, Fuel Economy and towing/off-road applications	\boxtimes	
Horn – Dual electric Introduced on: July 20, 2022 Adopted on: July 20, 2022 Official Resolution#: 2022000991		

Page 18A of 36

ITEM #3 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 CREW CAB XLT PICKUP TRUCK, AS SPECIFIED, OR EQUAL (CONT'D)

The second secon		COMPLIANCE	
<u>DESCRIPTION</u>	<u>YES</u>	<u>NO</u>	
Upfitter Switches (6) (located in overhead console)(66S)	\boxtimes		
Windshield Wipers – Intermittent	\boxtimes		
Driver and passenger frontal and side airbag/curtain	\boxtimes		
Seatbelts with height adjustment	\boxtimes		
 6-ton combination hitch: 2 inch ball and pintle Adjustable Tri-ball hitch with 1-7/8 in. ball, 2 in. ball, 2-5/16 in. ball. Locking hitch pin with key 			
 Hitch is to fit tightly into the receiver In the event the hitch, does not fit tightly, then a sleeve shall be provided. (Ford Part Number: HC3Z-19H282-A) 			
Headlamp/lamps - Quad Beam Jewel Effect	\boxtimes		
Mirrors- Manually telescoping/folding trailer tow with power/heated glass, heated convex spotter mirror, integrated clearance lamps/turn signals			
LT275/65R18 with 18" sparkle silver painted Cast Aluminum w/bright hub covers/center ornaments			
Windows – 1 st Row power w/one-touch up/down, 2 nd Row power	\boxtimes		
Air Conditioning - Manual, Single zone			
Sync 3 – Enhanced Voice Recognition communications and entertainment system	\boxtimes		
Carpet Delete – Factory Fleet Option (Pkg 166) Seats	\boxtimes		
 Front – cloth 40/20/40 split bench, 20% center locking under-seat storage, Rear- 60/40 bench w/flip-up seats & fold down backrests w/under-seat portioned lockable fold-flat storage, two (2) outboard head restraints and a 	ΙΣ		
center head restraint	⊠	<u>Ц</u>	
Snow Plow Prep package (Pkg 473)	\boxtimes		
Skid Plates – Transfer Case and Fuel Tank (Pkg 41P)	\boxtimes		
Full Running Boards on Cab (Factory Installed)			
Interior color: Earth Gray	\boxtimes		
Tough Bed Spray in liner – Includes tailgate-guard, black box bed tie-down hooks and black bed attachment bolts (Pkg 85S)	⊠		
Trailer brake controller	\boxtimes		

Introduced on:

July 20, 2022

Page 19A of 36

ITEM #3 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 CREW CAB XLT PICKUP TRUCK, AS SPECIFIED, OR EQUAL (CONT'D)

Company of the company of the control of the contro		COMPLIANCE	
	YES	<u>NO</u>	
DESCRIPTION			
Paint:			
Color to be specified from Standard color chart on Purchase order when ordering	\boxtimes		
Undercoating			
Entire Chassis and underside of cab to be coated with tectyl 2423 or Z Guard Product,			
or equal. This is a low VOC, high solids, emulsion corrosion preventative coating.			
Warranty:			
Bumper to Bumper: 3 years/36,000 miles	\boxtimes		
Vehicle Equipment Must Be Rustproofed and Warrantied by the Manufacturer Against Rust for Five (5) Years or 50,000 Miles, Whichever Comes Last. This Equipment Must Also Meet or Exceed All Applicable State, Federal and PEOSHA			
Laws and Regulations	\boxtimes		
OPTIONS 3A. 8' Bed for Crew Cab 4X4 (176" Wheelbase)	×		
3B. Tonneau Pickup Box Cover – Soft Folding (Pkg 21D) (Not available with the crossbed toolbox, stowable loading ramps, or drop in bedliner)	⊠		
3C. Tonneau Pickup Box Cover – Hard Folding (Pkg 21E) (Not available with the crossbed toolbox, stowable loading ramps, or drop in bedliner)	×		
3D. Tonneau Pickup Box Cover – Retractable (Pkg 21J)			
(Not available with the crossbed toolbox, stowable loading ramps, or drop in bedliner)			
3E. Voice-Activated Navigation with HD and SiriusXM Traffic and Travel Link	⋈	_	
(21N) /			
J3F. XLT Value Package (Pkg 17V)	•		
Autolock/Auto unlock, fog lamps, power Driver's Seat, Reverse sensing system,		•	
SecuriCode keyless entry keypad (Driver's side)	\boxtimes		

Introduced on:

July 20, 2022

Page 20A of 36

TITEM #3 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 CREW CAB XLT PICKUP TRUCK, AS SPECIFIED, OR EQUAL (CONT'D)

and the property of the proper	COMPLIANCE	
	<u>YES</u>	<u>NO</u>
OPTIONS (Cont'd)		
/3G. Weather Guard Premium Aluminum Crossbed Toolbox Model 127-0-02		
(PKG 62Y)	1571	
Includes six (6) sets of keys.		
/211 Alminus Creeched Toolbox Py Weatherquard (Defender Series) (Pkg 62X)		
/3H. Aluminum Crossbed Toolbox By Weatherguard (Defender Series) (Pkg 62X) Includes Six (6) Sets Of Keys	\boxtimes	
includes Six (0) Sets Of Reys	_	
3I. Gen 3 Sync Multi-Media Interface Tester (MIT) Kit		
(Rotunda Part Number: 105-00120-GEN3)	\boxtimes	. \square
3J. Furnish and Install: Whelen IX8AAAA - Liberty II, Solo IX Low Current		
Series Light Bar - 48", Fully loaded with all Amber, LED's which includes four (4)		
corners, four (4) front facing and six (6) rear facing and bar also includes two (2)		
white take down lights in Front, two (2) White Alley Light, Corner Light Wired on a	5 21	. —
Separate Switch.		
277 Links Colon Ontion		
√3K. <u>Light Color Option</u> Red and blue modules in lieu of amber for Sheriff Depart or OEM, keeping the amber Output Description Output Description Description Output Description Description Output Description		
rear arrow stick	\boxtimes	. 🗆
Total diffow Stion		
/3L. Furnish and Install: One (1) Four (4) Head Strobe Light Kit		
Including two (2) front and two (2) rear to be installed in the parking light lens area	_	_
with the front and rear being on separate switches.	\boxtimes	· L
/ AND AND	™	
J 3M. Vent Shield on All Doors	\boxtimes	L
3N. Furnish And Install: Western 8-1/2' Ultra Mount Quick Connect Contractor		
Pro Plus Snow Plow		
Including hand held controller and snow shield complete with electric, hydraulics and	577	-
light kit installed on vehicle.	\boxtimes	
Jacob B. Ab. Avenus Gallan Sahama		
J 30. Road Department Color Scheme Dupont 4357A – School bus yellow from the bottom of the windows down. Academy		
blue # 5240 from the bottom of the windows up to and including cab roof and back,		
on hood from bottom of windshield to a point on the hood to make a "V" and match		•
the road department fleet. (Note: Not all Vehicles will be painted this way)	\boxtimes	
√ 3P. Paint Colors Not Included in the Standard Color Chart		
i.e School bus yellow, Green Gem	\boxtimes	

Introduced on:

July 20, 2022

 \boxtimes

MOTOR VEHICLES: PICKUP TRUCKS
Page 21A of 36

ITEM #3 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 CREW CAB XLT PICKUP TRUCK, AS

SPECIFIED, OR EQUAL (CONT'D)

COMPLIANCE
YES NO

	COMIL	
	<u>YES</u>	<u>NO</u>
OPTIONS: (Cont'd)		
/3Q. <u>Liquid Transfer Tank for Diesel Fuel</u>	•	
- Weatherguard Transfer Tank, L Shape, 75 gal, Part number 352-3-01 Approx.		
Height 26 in, Approx. Width 30 in, Approx. length 43 in.		
- Fill-Rite Standard Duty DC Rotary Vane Pump 15GPM - Fill-Rite Part Number	,	
-FR1210GA		
- Fill-Rite Particulate Filter - Fill Rite Part Number - 1200KTF7018		
- Fill-Rite Heavy Duty Flow Meter - 3 Wheel Mechanical Flow Meter up to 20		
GPM at 50 PSI Pressure rating – Fill-Rite Part Number FR807C. Installed with a switch wired in the cab of the truck.	\boxtimes	
installed with a switch wired in the cab of the truck.		_
3R. <u>Leer Cab-High Cap Model 100RCC for 6-3/4' Box</u> – Leer fiberglass	•	
Construction, Interior headliner, Commercial cap structural reinforcement, Interior		
dome light, fiberglass base rails, recessed third brake light, radius fixed front window,		
fiberglass painted access side doors, recessed dark tint rear door with screen. Cap		
must be tri-coat painted to match the color of the truck.	⊠	
	•	
3S. <u>Leer Cab-High Cap Model 100RCC for 8' Box</u> – Leer fiberglass Construction,		
Interior headliner, Commercial cap structural reinforcement, Interior dome light,		
fiberglass base rails, recessed third brake light, radius fixed front window, fiberglass		
painted access side doors, recessed dark tint rear door with screen. Cap must be tri-		
coat painted to match the color of the truck.	\boxtimes	
/ 3T. <u>Under-Cover Tonneau Cover Installed Part Number UC2176</u>		
(Only available with 6-3/4' box)	\boxtimes	
		•
/ 3U. Ford F250 Evidence Locking Storage Box		
Dual locking drawer system. Dual Key Lock & Digital Combo Lock. Full bed depth.		
Powder coated aluminum. Bedliner coating on top.		
Drawers: 1/8 aluminum, 18 inch Drawer depth. Heavy 500lb Duty locking slides.	K21	
Exterior latch for evidence seal.	\boxtimes	Ц
2N Femily Coming Under Sept Weeping Sets		
3V. Ford F-Series Under-Seat Weapons Safe		
Full under seat width weapons vault. 46inches Long 10inches High. Simplex lock with metal latch. 3/4 inch MDO Plywood with bedliner coating. There are to be metal		
reinforcements around opening for extra security and High density foam cut to		
removesments around opening for extra security and ringh density roam out to		

Introduced on: July 20, 2022 Adopted on: July 20, 2022 Official Resolution#: 2022000991

weapon size. Secures with no holes drilled into vehicle.

Page 22A of 36

ITEM #3 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 CREW CAB XLT PICKUP TRUCK, AS SPECIFIED, OR EQUAL (CONT'D)

> COMPLIANCE YES

<u>ØPTIONS:</u> (Cont'd)

3W. Prosecutors Lighting Package

(Colors to be determined at the time of order)

- **Electrical System**
- QTY 1 Central Control system, solid state (Soundoff Signal part number ENGCC01243 or equal)
- OTY 1 Central Control Harness (Soundoff Signal part number ENGHNK01 or equal)
- OTY 1 100 Watt Siren amp output module (Soundoff Signal part number ETSA461HPP or equal)
- OTY 1 Vehicle Data control module (Soundoff Signal part number ENGLNK002 or equal)

All installed aftermarket electronic equipment must be wired to the control system. Every Component must be wired to its own output to allow for easy diagnosing and updating. The system must be capable of load shedding for each output independently based on voltage settings to prevent battery drain. All warning lights and sirens must be able to be controlled and programed through the system. This system must have capability of adjustable timed shutdown for all outputs independently to allow the equipment to stay on after vehicle ignition is turned off. It must have self-diagnostics capability with a fault log and use OBD data module for inputs from the vehicle. The system must be wired into the vehicle ignition system to provide ignition security system.

Lighting and Siren

- QTY 1 Interior 12 LED eight module light bar with dual color heads. (Soundoff Signal Part Number: ENFWBF or equal) - Manual dimming capability for nighttime use and Cruise mode. Comes with a Windows PC software application for ease of programming.
- OTY 1 100 Watt Siren Speaker and bracket. (Soundoff Signal Part Number: ETSS100N or equal) Mounted on Vehicle Specific bracket.
- OTY 4 Single Deck/Grille mount light SAE Class 1, 10-16V 12 LED. (Soundoff Signal Part Number: ENFSGS3 or equal) Mounted behind Grille. (Light head must be able to interchange mount, including deck, recess, surface and windshield mounts for easy repairs and repurposing.)
- QTY 1 Select-a-pattern headlight flasher, solid state, 12V isolation module. (Soundoff Signal Part Number: ETHFSS-SP-ISO or equal) headlight flasher does not feedback into any factory wiring.
- QTY 10 Multicolored light with silicon molded one-piece housing and Optic. (Soundoff Signal Part Number: EMPS2STS4 or equal) Side intersection Warning lights 2 on Ford Logo in Fender, 2 per running board and 2 under rear taillights. There should also be 2 mounted under rear tailgate wired to flash S/T/T and white in reverse.

 July 20, 2022

Introduced on: Adopted on:

July 20, 2022 Official Resolution#: 2022000991

 \boxtimes

Page 23A of 36

<u> ITEM #3 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 CREW CAB XLT PICKUP TRUCK, AS</u> SPECIFIED, OR EQUAL (CONT'D)

engen in die de State de Britanië en de Britanië en de Armen van de Britanië en de State de State de Britanië De State de Britanië en de Britanië	COMPL	IANCE -
	YES	<u>NO</u>
OPTIONS: (Cont'd)		
/3W. <u>Prosecutors Lighting Package</u> (Cont'd)		
 QTY 4 – LED insert with cruise mode (Soundoff Signal Part Number 	•	
ELUC3S025W or equal) Installed in reverse light housing.		
• QTY 2 - Dual Deck/Grille Mount Light, SAE Class 1, 10-16v, Black Housing, 9		
LED, multicolored. (Soundoff Signal Part Number: ENFDGS2 or equal)		
QTY 1 – Dash Bracket, Vehicle Specific bracket no holes drilled (Panvise		
bracket number 75107-510 or equal)		
Window Tint – All windows and windshield 20% utilizing 3M or Johnson		
window film.	\boxtimes	П
Install County supplied Radio with GPS antenna & TriPlexer		. —
3X. Ford F250 Bed Locking Storage		
Dual locking drawer system. Key Lock Full bed depth. 3/4 inch plywood sealed with		
waterproof bedliner coating.		
Drawers: 1/8 aluminum, 12 inch Drawer depth. Doors: Manufactured from 3/4" HDP		
composite material.		
Heavy 500lb Duty locking slides.	\boxtimes	
3Y. Ford F-Series Bed Slide		
Powder coated Steel 3 Rail 1500LB Bed Slide. 100% extension with a spring lock.		
3/16" aluminum Tray mounted to slide. Tray to have a 2" lip on three (3) sides, with		
no lip on the operator end. Includes tailgate extension bracket to allow tailgate to lay		
flat when open so bed slide is not required to be raised off the floor.		LJ.
3Z. Diagnostic Tools / Test Equipment		
1. Successful bidder may be required to supply between one (1) to three (3)		
complete sets of OEM test/diagnostic/ programming equipment (i.e. laptop,		
software, cabling, and adapters) and special tools required to perform the full		
range of diagnostic and maintenance actions necessary to maintain vehicle		
operability. This equipment will cover the vehicle chassis, engine, transmission,		
brakes, hydraulics, and all additional equipment (if applicable).	\boxtimes	
2. Provide a list of all test/diagnostic/programming equipment and special tools		
being supplied at the time of bid.	\boxtimes	
3. All software installations and activations will be completed by the successful		
bidder at no cost to the County.	\boxtimes	
4. All software updates and renewal will be provided at no cost to the County for a		
period of five (5) years from the acceptance of the equipment.	M	
period of five (3) years from the acceptance of the equipment.	\boxtimes	

Introduced on: Adopted on:

July 20, 2022 July 20, 2022

Official Resolution#: 2022000991

Page 24A of 36 MOTOR VEHICLES: PICKUP TRUCKS ITEM #3 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 CREW CAB XLT PICKUP TRUCK, AS SPECIFIED, OR EQUAL (CONT'D) **COMPLIANCE** NO OPTIONS: (Cont'd) 3Z. Diagnostic Tools / Test Equipment (Cont'd) 5. All technical issues relating to test/diagnostic/programming equipment and special tools shall be resolved by the successful bidder at no cost to the County for a period of five (5) years from the acceptance of the equipment. \boxtimes 6. Training shall be provided on all items in this section at a County location. \boxtimes 7. All laptop computers will be of the newest available technology and have \boxtimes sufficient storage and memory to operate all required software. 3AA. Two-Way Radio Power and Wiring Requirements for New Vehicles For the purpose of installing two-way radios into new County vehicles and equipment, the following power and wiring components shall be included: #12 AWG RED wire connected to 12VDC Battery Source rated at 20 Amps. - #12 AWG BLACK wire connected to chassis ground. - #16 AWG YELLOW wire connected to 12VDC Ignition Sense rated at 5 Amps. These wires shall be encased in plastic wire loom and routed from their source into the cab of the vehicle and secured in the vicinity of the operator. The wiring harness shall be clearly labeled "TWO-WAY RADIO". The wires shall be unterminated. The 12VDC \boxtimes sources shall be protected from making contact with grounded metal surfaces. 3BB. Installation of County Supplied Two Way Radio and Accessories Install is to include but not limited to antenna cable, mounts, speakers, brackets, etc. For the purpose of installing two-way radios into new County vehicles and equipment, the following power and wiring components shall be included: #12 AWG RED wire connected to 12VDC Battery Source rated at 20 Amps. #12 AWG BLACK wire connected to chassis ground. - #16 AWG YELLOW wire connected to 12VDC Ignition Sense rated at 5 Amps. These wires shall be encased in plastic wire loom and routed from their source into the cab of the vehicle. The wiring harness shall be clearly labeled "TWO-WAY RADIO". The 12VDC sources shall be protected \boxtimes

Introduced on: July 20, 2022 Adopted on: July 20, 2022 Official Resolution#: 2022000991

from making contact with grounded metal surfaces.

MOTOR VEHICLES: PICKUP TRUCKS TEM # 4 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 STANDARD Page 25A of 36

Please enter the below information about the model of vehicle your company will be providing

Manufacturer: Ford

Warranty: See attached

Delivery, A.R.O.: Delivery is unknown at this time

AS SPECIFIED, OR EQUAL

Remarks: Click or tap here to enter text.

Click or tap here to enter text.

Click or tap here to enter text.

Introduced on:

July 20, 2022

Page 26A of 36

ITEM # 4 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 STANDARD CAB XLT PICKUP

TRUCK, AS SPECIFIED, OR EQUAL (CONT'D) **COMPLIANCE** YES NO **DESCRIPTION** Model Year 2022 or Newer, Ford F250 4X4 Standard Cab XLT Pickup Truck \boxtimes 6.2L 2 Valve V8 Gas/TorqShift-G six-speed automatic w/selectshift automatic \boxtimes Wheel Base 142" X 8' Cargo box X Manual Locking hubs (4X4) \boxtimes Front Axle - Mono-beam front axle with coil spring suspension Rear Axle - Nonlimited slip \boxtimes Tire Pressure Monitoring System \boxtimes Trailer tow package - 7-wire harness with relays and 7/4 pin connector \boxtimes Center high-mounted stop lamp \boxtimes Brakes - Four Wheel Disc with Anti-lock brake system - Roll Stability control/trailer \boxtimes sway control/traction control Driver and passenger frontal and side airbag/curtain X Alternator – 240 Amp \boxtimes Battery - 750-CCA, 78-AH X Shock absorbers - Heavy Duty \boxtimes Stabilizer bar - Front \boxtimes Steering - Power \boxtimes Steering damper X Front license plate bracket \boxtimes Jack - Two Ton Mechanical \boxtimes Lamps - pickup box and cargo area \boxtimes Spare tire, wheel, lock and frame mounted carrier \boxtimes Tailgate - removable w/key lock, black handle X "Three-blink" lane change signal \boxtimes Tie-down hooks – Pickup box, Four (4) \boxtimes Tow hooks – Front, two (2) \boxtimes 4.2" LCD Productivity screen display includes menus for Gauge setup, Trip Ø Computer, Fuel Economy and towing/off-road applications \boxtimes Horn - Dual electric Windshield Wipers - Intermittent X Introduced on: Adopted on: with height, 2012 stment \boxtimes П Official Resolution#: 2022000991

Page 27A of 36

TTEM # 4 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 STANDARD CAB XLT PICKUP TRUCK, AS SPECIFIED, OR EQUAL (CONT'D)

	COMPLIANCE	
	YES	<u>NO</u>
DESCRIPTION (Cont'd)		
6-ton combination hitch:		
-2 inch ball and pintle		
-Adjustable Tri-ball hitch with 1-7/8 in. ball, 2 in ball, 2-5/16 in ballLocking hitch pin with key		
-Hitch is to fit tightly into the receiver		
-In the event the hitch, does not fit tightly, then a sleeve shall be provided. (Ford		
Part Number: HC3Z-19H282-A)	\boxtimes	
Headlamp/lamps - Quad Beam Jewel Effect		
Mirrors- Manually telescoping/folding trailer tow with power/heated glass, heated		
convex spotter mirror, integrated clearance lamps/turn signals		
LT275/65R18 with 18" sparkle silver painted Cast Aluminum w/bright hub		
covers/center ornaments	\boxtimes	
Windows - Driver's side power w/one-touch up/down		
Air Conditioning – Manual, Single Zone	\boxtimes	
Sync 3 – Enhanced Voice Recognition communications and entertainment system	\boxtimes	
Carpet Delete – Factory Fleet Option (166)		
Seats - Front - cloth 40/20/40 split bench, 20% center locking under-seat storage	\boxtimes	
Snow Plow Prep package (Pkg 473)		
Skid Plates – Transfer Case and Fuel Tank (Pkg 41P)	\boxtimes	
Full Running Boards on Cab (Factory Installed)		
Interior color: Medium Earth Gray	\boxtimes	
Tough Bed Spray in liner - Includes tailgate-guard, black box bed tie-down hooks and		
black bed attachment bolts (Pkg 85S)	\boxtimes	
Trailer brake controller	\boxtimes	
Upfitter Switches (6) (located in overhead console)(66S)	\boxtimes	. 🗆
Paint:		
Color to be specified from Standard color chart on Purchase order when ordering		
Undercoating:		
Entire Chassis and underside of cab to be coated with tectyl 2423 or Z Guard Product,		
or equal. This is a low VOC, high solids, emulsion corrosion preventative coating.	\boxtimes	

Page 28A of 36

ITEM # 4 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 STANDARD CAB XLT PICKUP TRUCK, AS SPECIFIED, OR EQUAL (CONT'D)

	te mente de tentral proposition de la compansa de La compansa de la co	COMPLIANCE	
		<u>YES</u>	<u>NO</u>
	Warranty:		
	Bumper to Bumper: 3 years/36,000 miles		
	Vehicle Equipment Must Be Rustproofed and Warrantied by the Manufacturer Against Rust for Five (5) Years or 50,000 Miles, Whichever Comes Last. This Equipment Must Also Meet or Exceed All Applicable State, Federal and PEOSHA Laws and Regulations.	\boxtimes	
	OPTIONS:		
/	4A. Tonneau Pickup Box Cover – Soft Folding (Pkg 21D)		
•	(Not available with the crossbed toolbox, stowable loading ramps, or drop in bedliner)		
/	4B. Tonneau Pickup box cover – Hard Folding (Pkg 21E) (Not available with the crossbed toolbox, stowable loading ramps, or drop in		
	bedliner)		
	4C. Tonneau Pickup Box Cover – Retractable (Pkg 21J) (Not available with the crossbed toolbox, stowable loading ramps, or drop in bedliner)		
U	4D. Voice-Activated Navigation with HD and SiriusXM Traffic and Travel Link (Pkg 21N)	\boxtimes	
J	4E. XLT Value Package (Pkg 17V) Autolock/Auto unlock, fog lamps, manual driver's seat, Reverse sensing system,		
	SecuriCode keyless entry keypad (Driver's side)		
Ú	/4F. Gen 3 Sync Multi-Media Interface Tester (MIT) Kit (Rotunda Part Number: 105-00120-GEN3)	\boxtimes	
J	4G. Furnish and Install: Whelen IX8AAAA - Liberty II, Solo IX Low Current Series Light Bar - 48"		
	Fully loaded with all Amber, LED's which includes four (4) corners, four (4) front facing and six (6) rear facing and bar also includes two (2) white take down lights in	•	
	Front, two (2) White Alley Light, Corner Light Wired on a Separate Switch.		
•	4H. Furnish and Install: One Four (4) Head Strobe Light Kit Includes two (2) front and two (2) rear to be installed in the parking light lens area		•
	with the front and rear being on separate switches.		

Introduced on:

July 20, 2022

 \boxtimes

 \boxtimes

 \boxtimes

WINNER FORD Page 29A of 36 MOTOR VEHICLES: PICKUP TRUCKS TEM # 4 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 STANDARD CAB XLT PICKUP TRUCK, AS SPECIFIED, OR EQUAL (CONT'D) **COMPLIANCE** OPTIONS: (Cont'd) 4I. Vent Shield On All Doors \boxtimes 4J. Furnish and Install: One (1) Western 8-1/2' Ultra Mount Quick Connect Contractor Pro Plus Snow Plow Including hand held controller and snow shield complete with electric, hydraulics and \boxtimes light kit installed on vehicle. 4K. Weather Guard Premium Aluminum Crossbed Toolbox Model 127-0-02 \boxtimes Includes six (6) sets of keys. 4L. Road Department Color Scheme Dupont 4357A - School bus yellow from the bottom of the windows down. Academy blue # 5240 from the bottom of the windows up to and including cab roof and back, on hood from bottom of windshield to a point on the hood to make a "V" and match the road department fleet. (Note: Not all Vehicles will be painted this way) \boxtimes 4M. Paint Colors Not Included In The Standard Color Chart i.e. - School bus yellow, Green Gem \boxtimes 4N. Liquid Transfer Tank For Diesel Fuel Weatherguard Transfer Tank, L Shape, 75 gal, Part number 352-3-01 Approx. Height 26 in, Approx. Width 30 in, approx. length 43 in. - Fill-Rite Standard Duty DC Rotary Vane Pump 15GPM - Fill-Rite Part Number -FR1210GA Fill-Rite Particulate Filter - Fill Rite Part Number - 1200KTF7018 Fill-Rite Heavy Duty Flow Meter - 3 Wheel Mechanical Flow Meter up to 20 GPM at 50 PSI Pressure rating – Fill-Rite Part Number FR807C. \boxtimes Installed with a switch wired in the cab of the truck. 40. Diagnostic Tools / Test Equipment 1. Successful bidder may be required to supply between one (1) to three (3) complete sets of OEM test/diagnostic/ programming equipment (i.e. laptop, software, cabling, and adapters) and special tools required to perform the full range of diagnostic and maintenance actions necessary to maintain vehicle operability. This equipment will cover the vehicle chassis, engine, transmission, brakes, hydraulics, and all additional equipment (if applicable).

2. Provide a list of all test/diagnostic/programming equipment and special tools

3. All software installations and activations will be completed by the successful

July 20, 2022 Introduced on: July 20, 2022 Adopted on: Official Resolution#: 2022000991

being supplied at the time of bid.

bidder at no cost to the County.

MOTOR VEHICLES: PICKUP TRUCKS
Page 30A of 36

ITEM # 4 - MODEL YEAR 2022, OR NEWER, FORD F250 4X4 STANDARD CAB XLT PICKUP
TRUCK, AS SPECIFIED, OR EQUAL (CONT'D)

TRUCK, AS SPECIFIED, OR EQUAL (CONT'D)		
	COMPLIANCE	
	YES	<u>NO</u>
OPTIONS: (Cont'd)		
40. <u>Diagnostic Tools / Test Equipment</u> (Cont'd)		
4. All software updates and renewal will be provided at no cost to the County for a		
period of five (5) years from the acceptance of the equipment.	\boxtimes	
5. All technical issues relating to test/diagnostic/programming equipment and special tools shall be resolved by the successful bidder at no cost to the County	⊠	
for a period of five (5) years from the acceptance of the equipment.		
6. Training shall be provided on all items in this section at a County location.	\boxtimes	
 All laptop computers will be of the newest available technology and have sufficient storage and memory to operate all required software. 		
4P. Two-Way Radio Power and Wiring Requirements for New Vehicles For the purpose of installing two-way radios into new County vehicles and equipment, the following power and wiring components shall be included:		
 #12 AWG RED wire connected to 12VDC Battery Source rated at 20 Amps. #12 AWG BLACK wire connected to chassis ground. #16 AWG YELLOW wire connected to 12VDC Ignition Sense rated at 5 Amps. 		
These wires shall be encased in plastic wire loom and routed from their source into the cab of the vehicle and secured in the vicinity of the operator. The wiring harness shall be clearly labeled "TWO-WAY RADIO". The wires shall be unterminated. The		
12VDC sources shall be protected from making contact with grounded metal surfaces.	\boxtimes	. 🔲
AQ. <u>Installation of County Supplied Two Way Radio and Accessories</u> Install is to include but not limited to antenna cable, mounts, speakers, brackets, etc. For the purpose of installing two-way radios into new County vehicles and equipment, the following power and wiring components shall be included:		•
 #12 AWG RED wire connected to 12VDC Battery Source rated at 20 Amps. #12 AWG BLACK wire connected to chassis ground. #16 AWG YELLOW wire connected to 12VDC Ignition Sense rated at 5 Amps. 		
These wires shall be encased in plastic wire loom and routed from their source into the cab of the vehicle. The wiring harness shall be clearly labeled "TWO-WAY RADIO". The 12VDC sources shall be protected		
from making contact with grounded metal surfaces.	₩	

Page 31A of 36

<u> ITEM #5 - MODEL YEAR 2022, OR NEWER, FORD RANGER XL 4X4 SUPERCREW PICKUP</u> TRUCK, AS SPECIFIED, OR EQUAL

Please enter the below information about the model of vehicle your company will be providing

Manufacturer: Ford

Warranty: See attached

Delivery, A.R.O.: Delivery is unknown at this time

Remarks: Click or tap here to enter text.

Click or tap here to enter text.

Click or tap here to enter text.

Introduced on:

July 20, 2022

Page 32A of 36

ITEM #5 - MODEL YEAR 2022, OR NEWER, FORD RANGER XL 4X4 SUPERCREW PICKUP

TRUCK, AS SPECIFIED, OR EQUAL (CONT D)	COMPLIANCE	
	YES	NO
<u>DESCRIPTION</u>		
Model Year 2022, or Newer, Ford Ranger XL 4X4 SuperCrew Pickup Truck	\boxtimes	
2.3 L Ecoboost Engine with auto start-stop technology	\boxtimes	, 🗆
5' box	\boxtimes	
4X4 Electronic-shift-on-the-fly		
Axle, Front – Independent Front Suspension		
Brakes – Anti-Lock Brake System	\boxtimes	
Electronic Power-Assist Steering	\boxtimes	. 🗆
SelectShift Automatic Transmission	\boxtimes	. 🗆
Shock Absorbers, Gas		
- Front		_
- Rear		
Springs		
- Front - Coil	\boxtimes	
- Rear – Leaf, Two-Stage Linear Rate Front license plate bracket		
Mirrors, Side view – Manual-folding, Manual Glass with black skull caps and		_
Integrated spotter mirrors	\boxtimes	. 🗆
Exhaust – Single Rear	\boxtimes	
Fully boxed Steel Frame	\boxtimes	
Handles, Black – Door and Tailgate	\boxtimes	
Spare Tire Carrier – rear under frame, full-sized spare tire		
Tailgate – Manual Locking	\boxtimes	
Tires – 255/65R17 A/T BSW	\boxtimes	
Wheels – 16" Silver steel		
Windshield wipers – Intermittent speed	\boxtimes	
Trailer sway control		
Trailer towing – 4-pin wiring, ball mounting provisions in rear bumper (Does not		
include trailer hitch receiver)	\boxtimes	Ċ
Black Vinyl Floor Covering	\boxtimes	
Review Mirror – Auto-Dimming	\boxtimes	
Seat, Front		
- 8-way Drivers side Manual Adjustment w/lumbar		
- 6-way passenger side Manual Adjustment		
- Cloth Bucket seats	\boxtimes	П
- Flow-through console with shifter		
Seat, Rear - Armrest	,	•
- Bench Seat		
- Under seat storage	\boxtimes	
Steering Wheel - Manual Tilt/Telescoping and manual locking	\boxtimes	

Introduced on:

July 20, 2022

MOTOR VEHICLES: PICKUP TRUCKS
Page 33A of 36

ITEM #5 - MODEL YEAR 2022, OR NEWER, FORD RANGER XL 4X4 SUPERCREW PICKUP TRUCK,

AS SPECIFIED, OR EQUAL (CONT'D)	<u>COMPI</u>	COMPLIANCE	
	YES	<u>NO</u>	
DESCRIPTION (Cont'd)			
Windows - Power Front/Rear Windows			
- One-Touch up/down driver window			
Daytime Running lamps	\boxtimes		
Running Boards (Factory Installed)	\boxtimes		
Rear view Camera			
Tire Pressure Monitoring system			
AM/FM stereo with 6 audio speakers	\boxtimes		
Interior Colors: Ebony	\boxtimes		
mentor colors. Zoony	\boxtimes		
Paint			
Color to be Specified from Standard Color Chart on Purchase Order when Ordering			
Color to be specified from Standard Color Chart on 1 aronado Craer when Craer			
Wownerty			
Warranty Bumper to Bumper: 3 years/36,000 Miles			
Bumper to Bumper. 3 years/30,000 fames			
Vehicle Equipment Must be Rustproofed and Warrantied by the Manufacturer Again	st		
Rust for five (5) years or 50,000 miles, Whichever Comes Last. This Equipment Mus	st	•	
Also Meet or Exceed All Applicable State, Federal and PEOSHA Laws and	\boxtimes		
Regulations.		ليبا	
OPTIONS:			
/ 	 	П	
✓ 5A. SuperCrew 4X2 – 5' Box (Pkg R4E)		ш	
SD D. J. HARA. (Dl. 960)			
5B. <u>Bed Utility (Pkg 86Q)</u> Incudes:			
- Drop In Bed Liner			
- 12V power supply		. **	
- Rearview camera	_		
(Not Available with spray in bed liner)			
		,	
J 5C. <u>Trailer Tow (Pkg 53R)</u>			
Includes: - 4-pin/7-pin wiring harness			
- Class IV trailer hitch receiver			
/	•		
5D. Electronic-Locking Rear Differential (Pkg X73)	☒		
5E. Tonneau Pickup Box Cover – Soft Folding (Pkg 94D)	5	. –	
Not Available with the Aluminum crossbed storage toolbox or bed utility Pkg.)	\boxtimes		
D. 1 D. C. H. J. F. L. C. OL. 04E	•		
Tonneau Pickup Box Cover – Hard Folding (Pkg 94E) Introduced with the Pkg. A will able with the Pkg.)	\boxtimes		
Adopted on: July 20, 2022 Official Resolution#: 2022000991	- -	-	
OTHORAL INCOORDING EVERYOOD I			

MOTOR VEHICLES: PICKUP TRUCKS		4A of 36
ITEM #5 - MODEL YEAR 2022, OR NEWER, FORD RANGER XL 4X4 SUPERO	REW PICKU	PTRUCK
AS SPECIFIED, OR EQUAL (CONT'D)	······································	LIANCE
	YES YES	NO
	ILS	110
OPTIONS: (Cont'd)		
5G. Tonneau Pickup Box Cover – Retractable (Pkg 94J)	\boxtimes	
(Not Available with the Aluminum crossbed storage toolbox or bed utility Pkg.)		u
5H. Exterior Backup Alarm (Pkg 60H)	\boxtimes	
/FI Come (Dire 59E)	•	
 5I. Sync (Pkg 58E) Enhanced Voice Recognition Communications and Entertainment System 		
- 4.2" LCD Display in center Stack		
- 911 Assist		
- Smart Charging USB ports – one (1)	\boxtimes	
- Applink		
5J. Furnish and Install Mini Liberty II IT9 Series Light Bar-Permanent Mount		
Includes 15' Cable, Fully Lit Amber with two (2) short Super-LED White Takedown		
and Alley Lights wired on four (4) separate switches.	\boxtimes	П
and Aries Lights when on four (+) separate switches.	23	
5K. Trailer Brake Controller	\boxtimes	
V SR. ITalier Drake Controller		_
J. Spray-In Bedliner (Pkg 86S)	\boxtimes	
/ SDI. Spray-In Decimer (I'mg oos)	_	
5M. Equipment Group 101A		
- 6 Audio Speakers		
- Cruise Control		
- Perimeter Anit-Theft Alarm		
- Power Glass Sideview Mirror		
- Day/night rearview mirror		
- Remote Key Fob w/Tailgate lock		
- Sync		
Enhanced Voice Recognition Communications and Entertainment system		
■ 4.2" LCD Display in center stack		
■ Smart charging USB port – one (1)	•	
• 911 Assist		
Applink	\boxtimes	
J5N. Ford Protect ExtraCare Extended Service Plan		
covering 113 components, 8 years/125,000 miles with \$0.00 deductible.	×	

Page 35A of 36

ITEM #5 - MODEL YEAR 2022, OR NEWER, FORD RANGER XL 4X4 SUPERCREW PICKUP TRUCK,

AS SPECIFIED, OR EQUAL (CONT'D)	COMPI	LIANCE
	YES	NO
OPTIONS: (Cont'd) 50. Diagnostic Tools / Test Equipment 1. Successful bidder may be required to supply between one (1) to three (3) complete sets of OEM test/diagnostic/ programming equipment (i.e. laptop, software, cabling, and adapters) and special tools required to perform the full range of diagnostic and maintenance actions necessary to maintain vehicle operability. This equipment will cover the vehicle chassis, engine, transmission,		
brakes, hydraulics, and all additional equipment (if applicable).	\boxtimes	
2. Provide a list of all test/diagnostic/programming equipment and special tools being supplied at the time of bid.	⊠ _.	. 🗆
 3. All software installations and activations will be completed by the successful bidder at no cost to the County. 4. All software updates and renewal will be provided at no cost to the County for a 		
period of five (5) years from the acceptance of the equipment. 5. All technical issues relating to test/diagnostic/programming equipment and special tools shall be resolved by the successful bidder at no cost to the County for a period of five (5) years from the acceptance of the equipment.	⊠	
6. Training shall be provided on all items in this section at a County location.	\boxtimes	. 🗆
7. All laptop computers will be of the newest available technology and have sufficient storage and memory to operate all required software.	_ ⊠	
5P. <u>Two-Way Radio Power and Wiring Requirements for New Vehicles</u> For the purpose of installing two-way radios into new County vehicles and equipment, the following power and wiring components shall be included:		
 #12 AWG RED wire connected to 12VDC Battery Source rated at 20 Amps. #12 AWG BLACK wire connected to chassis ground. #16 AWG YELLOW wire connected to 12VDC Ignition Sense rated at 5 Amps. 	-	
These wires shall be encased in plastic wire loom and routed from their source into the cab of the vehicle and secured in the vicinity of the operator. The wiring harness shall be clearly labeled "TWO-WAY RADIO". The wires shall be unterminated. The 12VDC sources shall be protected from making contact with grounded metal surfaces.		_
sources shan be protected from making contact with grounded mount surroots.	\boxtimes	

Page 36A of 36

ÍTEM #5 - MODEL YEAR 2022, OR NEWER, FORD RANGER XL 4X4 SUPERCREW PICKUP TRUCK, AS SPECIFIED, OR EOUAL (CONT'D)

COMPLIANCE

NO YES

<u>OPTIONS:</u> (Cont'd)

50. Installation of County Supplied Two Way Radio and Accessories

Install is to include but not limited to antenna cable, mounts, speakers, brackets, etc. For the purpose of installing two-way radios into new County vehicles and equipment, the following power and wiring components shall be included:

- #12 AWG RED wire connected to 12VDC Battery Source rated at 20 Amps.
- #12 AWG BLACK wire connected to chassis ground.
- #16 AWG YELLOW wire connected to 12VDC Ignition Sense rated at 5 Amps.

These wires shall be encased in plastic wire loom and routed from their source into the cab of the vehicle. The wiring harness shall be clearly labeled "TWO-WAY RADIO". The 12VDC sources shall be protected from making contact with grounded metal surfaces.

 \boxtimes

Introduced on: Adopted on:

July 20, 2022 July 20, 2022 Official Resolution#: 2022000991